Econ 306
Autocorrelation

1st order autocorrelation
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For stationarity:
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The mean:
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The covariance matrix:

Diagonal elements are given by the variances:
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Off diagonal adjacent elements are given by:
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For 2 periods apart by:
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For s periods apart by:
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The correlation between equation errors s periods apart is:
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GLS estimator is BLUE
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Estimated by:
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Feasible GLS
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Tests:

Durbin Watson
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Positive or negative serial correlation?

Positive
H0: ρ=0

H1: ρ>0

If calculated d < dL H0 rejected in favour of H1

If calculated d > dU H0 not rejected

If dL < calculated d < dU Test inconclusive

Negative

H0: ρ=0

H1: ρ<1

If calculated d >4- dL H0 rejected in favour of H1

If calculated d < 4-dU H0 not rejected

If 4-dU < calculated d < 4-dL Test inconclusive

Durbin h-test
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h > 1.645 reject H0 Accept H1 Positive serial correlation
h < -1.645 reject H0 Accept H1 Negative serial correlation

-1.645 < h < 1.645 Accept H0
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